

Why h goes to 0 ? Because h is the difference between a and 
$$a+h$$
, if  $a+h$  goes to a this means that h is going to 0

$$\lim_{x \to s} \frac{f(x) - f(s)}{x - s} = f'(s) \qquad \lim_{k \to 0} \frac{f(o+k) - f(o)}{h} = f'(o)$$

$$\lim_{x \to s} \frac{f(x) - f(s)}{x - s} = \frac{x - 9}{h} = \frac{(x - 1)(x + 1)}{x - 1} = f(s)$$

f(x)=x > f'(x) - 1 frx)-2xx f'rx) = 2  $f(x) = 2x^4 + f'(x) = 8x^3$  $f(x) = \int x y f'(x) = \frac{1}{2} x^{2}$  $f(x) = e^{x} \rightarrow f'(x) = e^{x}$ f(x) = 3 + 5 + f'(x) = 2x ln(3).5 $f(x) = \frac{x+s}{3x} + \frac{x'+s}{3x} + \frac{x'+s}{(x)} = \frac{(z \times \ln(3x) + \frac{x^2+s}{x})}{x} + \frac{x^2+s}{x}$  $f(x) = l_n(SX) + f'(x) = S/x$  $f(x) = l_{1}(x^{2}+3) + f'(x) = 2 \times / x^{2} + 3$  $f(x) = \log_{5}(x) + f(x) = \frac{1}{x \ln(5)}$  $f(x) = \frac{1}{5} + \frac{1}{5}$ 

$$\begin{aligned} f(k) &= \operatorname{orr}(s_{1}) (k) \rightarrow f'(x) = 1/(1-x) \\ f(k) &= \operatorname{orr}(s_{1}) (x^{1}+s) \wedge f'(x) = \frac{2x}{\sqrt{1-(x^{1}+s)^{2}}} \\ f(k) &= \operatorname{orr}(s_{1}) (x^{1}+s) \rightarrow f'(x) = -\frac{2x}{\sqrt{1-(x^{1}+s)^{2}}} \\ f(k) &= \operatorname{orr}(s_{1}) (x^{1}+s) \rightarrow f'(x) = -\frac{2x}{\sqrt{1-(x^{1}+s)^{2}}} \\ f(k) &= \operatorname{orr}(s_{1}) (x^{1}+s) \rightarrow f'(x) = \frac{2x}{1+(x^{1}+s)^{2}} \\ f(k) &= \operatorname{orr}(s_{1}) (x^{1}+s) \rightarrow f'(x) = \frac{2x}{1+(x^{1}+s)^{2}} \\ f(k) &= \frac{2x}{1+(x^{1}+s)} \rightarrow f'(x) = \frac{2x}{1+(x^{1}+s)^{2}} \\ f(k) &= \frac{2x}{1+(x^{1}+s)} (x^{1}+s) - \frac{2x}{1+(x^{1}+s)^{2}} \\ f(k) &= \frac{2x}{1+(x^{1}+s)} \rightarrow f'(x) = \frac{2x}{1+(x^{1}+s)} \\ f(k) &= \frac{2x}{1+(x^{1}+s)} \\ f(k) &= \frac{2x}{1+(x^{1}+s)} \rightarrow f'(k) = \frac{2x}{1+(x^{1}+s)} \\ f(k) &= \frac{2x}{1+(x^{1}+s)} \rightarrow$$